

Existence of Solution of Nonlinear Bridge Problem with Time-delay in Aerodynamic Resistance Force

Y.M. Farhadova

Abstract. In this paper we consider the mathematical model of the nonlinear bridge problem with a strong delay in linear aerodynamic resistance force. The existence and uniqueness of the solution is investigated by modelling this problem as the Cauchy problem for an operator coefficient equation in a certain space.

Key Words and Phrases: nonlinear bridge problem, aerodynamic resistance force, delay, mixed problem.

2010 Mathematics Subject Classifications: 93D05, 58D25,35Q72

1. Introduction

A suspension bridge is a general construction of civil engineering structure. Many papers have been devoted to the modelling of suspension bridges, for instance, in [1], Lazer and McKenna studied the problem of nonlinear oscillation in a suspension bridge. They introduced a (one-dimensional) mathematical model for the bridge that takes into account of the fact that the coupling provided by the stays connecting the main cable to the deck of the road bed is fundamentally nonlinear, that is, they gave rise to the some system of semi linear hyperbolic equation (see[2-3]), where the first equation describes the vibration of the road bed in the vertical plain and the second equation describes that of the main cable from which the road bed is suspended by the tie cables. In recently, there has been a growing interest in this area.

There are many references to study the existence and asymptotic behavior of solutions for the mathematical model of suspension bridge, (see [4-10] and references there in). In recent studies, the existence of global minimal attractors of dynamic systems created by these problems has been considered (see [3-10]). See also [11] for the existence of global attractors for the coupled system of suspension bridge equations in the case of the tensioning cable has one common point with the roadbed.

In recent years, the control of partial differential equations with time delay effects has become the most requested area of research. Time delays arise in many applications, because, in most instances, physical, chemical, biological, thermal, and economic phenomena naturally not only depend on the present state but also on some past occurrences. In

many cases it was shown that an arbitrarily small delay may destabilize a system which is uniformly asymptotically stable in the absence of delay unless additional conditions or control terms have been used[12- 15].

In this paper, we consider the corresponding mixed problem with a strong delay in linear aerodynamic resistance force. We prove the theorem on the existence and uniqueness of the solution of considered problem.

2. Statement of the problem. Existence and uniqueness of the solution.

We consider the following mathematical model for the oscillations of the bridge with strong delay

$$\begin{cases} u_{tt}(x, t) + u_{xxxx}(x, t) + [u - v]_+ + \lambda_1 u_t(x, t) + \\ \quad + \lambda_2 u_t(x, t - \tau_1) + g_1(u, v) = 0, \\ v_{tt}(x, t) - v_{xx}(x, t) - [u - v]_+ + \mu_1 v_t(x, t) + \\ \quad + \mu_2 v_t(x, t - \tau_2) + g_2(u, v) = 0 \end{cases} \quad (2.1)$$

where $u(x, t)$ is state function of the road bed and $v(x, t)$ is that of the main cable; $\tau_1, \tau_2 > 0$ represents the time delay, $\lambda_1, \lambda_2, \mu_1, \mu_2$ are real numbers such that $|\lambda_2| < \lambda_1, |\mu_2| < \mu_1$, and $g_1(u, v) = |u|^{p-1}|v|^{p+1}u, g_2(u, v) = |u|^{p+1}|v|^{p-1}v, p \geq 1$. Here $[a]_+ = \max\{a, 0\}$.

Let's define the following initial and boundary conditions for the system (2.1).

$$\begin{cases} u(0, t) = u_{xx}(0, t) = u(l, t) = u_{xx}(l, t) = v(0, t) = v(l, t) = 0, \quad t > 0, \\ u(x, 0) = u_0(x), u_t(x, 0) = u_1(x), \quad x \in (0, l), \\ u_t(x, t - \tau_1) = f_{01}(x, t - \tau_1), \quad x \in (0, l), t \in (0, \tau_1), \\ v(x, 0) = v_0(x), v'(x, 0) = v_1(x), \quad x \in (0, l), \\ v_t(x, t - \tau_2) = f_{02}(x, t - \tau_2), \quad x \in (0, l), t \in (0, \tau_2). \end{cases} \quad (2.2)$$

In order to establish the existence of a unique solution to (2.1)-(2.2), we introduce the new variables(see [12-15]):

$$\begin{aligned} z_1(x, \rho, t) &= u_t(x, t - \tau_1 \rho), \rho \in (0, 1), x \in (0, l), t > 0 \\ z_2(x, \rho, t) &= v_t(x, t - \tau_2 \rho), \rho \in (0, 1), x \in (0, l), t > 0 \end{aligned}$$

Obviously, z_1 and z_2 are solutions to the following problems:

$$\begin{cases} \tau_1 z_{1t}(x, \rho, t) + z_{1\rho}(x, \rho, t) = 0, \quad \rho \in (0, 1), x \in (0, l), t > 0 \\ z_1(x, \rho, 0) = f_{01}(x, -\rho\tau_1), \quad x \in (0, l), \rho \in (0, 1) \\ \tau_2 z_{2t}(x, \rho, t) + z_{2\rho}(x, \rho, t) = 0, \quad \rho \in (0, 1), x \in (0, l), t > 0, \\ z_2(x, \rho, 0) = f_{02}(x, -\rho\tau_2), \quad x \in (0, l), \rho \in (0, 1) \end{cases} \quad (2.3)$$

So, problem (2.1)-(2.3) takes the form

$$\begin{cases} u_{tt}(x, t) + u_{xxxx}(x, t) + [u - v]_+ + \lambda_1 u_t(x, t) + \lambda_2 z_1(x, 1, t) = 0, \text{ in } (0, 1) \times (0, \infty), \\ v_{tt}(x, t) - v_{xx}(x, t) - [u - v]_+ + \mu_1 v_t(x, t) + \mu_2 z_2(x, 1, t) = 0, \text{ in } (0, 1) \times (0, \infty), \\ \tau_1 z_{1t}(x, \rho, t) + z_{1\rho}(x, \rho, t) = 0, \text{ in } (0, l) \times (0, 1) \times (0, \infty), \\ \tau_2 z_{2t}(x, \rho, t) + z_{2\rho}(x, \rho, t) = 0, \text{ in } (0, l) \times (0, 1) \times (0, \infty), \end{cases} \quad (2.4)$$

$$\left\{ \begin{array}{l} u(0, t) = u_{xx}(0, t) = u(l, t) = u_{xx}(l, t) = 0, \\ v(0, t) = v(l, t) = 0, \\ z_1(0, \rho, t) = z_1(l, \rho, t) = 0, \\ z_2(0, \rho, t) = z_2(l, \rho, t) = 0, \end{array} \right. \quad (2.5)$$

$$\left\{ \begin{array}{l} u(x, 0) = u_0(x), \quad u_t(x, 0) = u_1(x), \quad x \in (0, l), \\ z_1(x, \rho, 0) = f_{01}(x, -\rho\tau_1), \quad x \in (0, l), \quad \rho \in (0, 1), \\ v(x, 0) = v_0(x), \quad v_t(x, 0) = v_1(x), \quad x \in (0, l), \\ z_2(x, \rho, 0) = f_{02}(x, -\rho\tau_2), \quad x \in (0, l), \quad \rho \in (0, 1) \end{array} \right. \quad (2.6)$$

For investigating the problem (2.4)-(2.6), we introduce the following notations:

$$\mathbf{H}^k(a, b) = \left\{ y : y, y', \dots, y^{(k)} \in L_2(a, b) \right\},$$

$$\widehat{\mathbf{H}}^k(a, b) = \left\{ y : y \in \mathbf{H}^k(a, b), \quad y^{(2s)}(a) = y^{(2s)}(b) = 0, \quad s = 0, 1, \dots, \left[\frac{k}{2} \right] \right\},$$

where $[r]$ is the integer part of the number r . We will denote the space $\widehat{\mathbf{H}}^k(0, l)$ as $\widehat{\mathbf{H}}^k$. We introduce the following space:

$$\mathcal{H} = \widehat{\mathbf{H}}^2 \times L_2(0, l) \times \widehat{\mathbf{H}}^1 \times L_2(0, l) \times L_2((0, 1) \times (0, l)) \times L_2((0, 1) \times (0, l)),$$

equipped with the scalar product

$$\begin{aligned} \langle \omega, \tilde{\omega} \rangle &= \int_0^l u_{1xx} \tilde{u}_{1xx} dx + \int_0^l u_2 \tilde{u}_2 dx + \int_0^l u_3 \tilde{u}_3 dx + \int_0^l u_4 \tilde{u}_4 dx + \\ &+ \tau |\lambda_2| \int_0^l \int_0^1 z_1 \tilde{z}_1 d\rho dx + \tau |\mu_2| \int_0^l \int_0^1 z_2 \tilde{z}_2 d\rho dx, \end{aligned}$$

for all $\omega = (u_1, u_2, u_3, u_4, z_1, z_2)^T$, $\tilde{\omega} = (\tilde{u}_1, \tilde{u}_2, \tilde{u}_3, \tilde{u}_4, \tilde{z}_1, \tilde{z}_2)^T \in \mathcal{H}$.

Let's define the following operators A_0 , $A_1(\cdot)$ and $F(\cdot)$ in the space \mathcal{H} . The linear operator A_0 is defined by

$$A_0 \omega = \begin{pmatrix} -u_2 \\ u_{1xxxx} + \lambda_1 u_2 + \lambda_2 z_1(\cdot, 1) \\ -u_4 \\ -u_{3xx} + \mu_1 u_4 + \mu_2 z_2(\cdot, 1) \\ \frac{1}{\tau_1} z_{1\rho} \\ \frac{1}{\tau_2} z_{2\rho} \end{pmatrix},$$

with domain

$$D(A_0) = \left\{ \omega : \omega = (u_1, u_2, u_3, u_4, z_1, z_2)^T \in \mathcal{H}, \quad u_1 \in \widehat{\mathbf{H}}^4, \quad u_2 \in \widehat{\mathbf{H}}^2, \quad u_3 \in \widehat{\mathbf{H}}^2, \right.$$

$$\left. u_4 \in \widehat{\mathbf{H}}^1, \quad z_i, z_{i\rho} \in L_2((0, 1) \times (0, l)), \quad z_i(\cdot, 1) \in L_2((0, 1) \times (0, l)), \quad i = 1, 2 \right\}.$$

The nonlinear operators $A_1(\cdot)$ and $F(\cdot)$, acting from \mathcal{H} into the space \mathcal{H} , are respectively defined as

$$A_1(\omega) = \begin{pmatrix} 0 \\ [u_1 - u_3]_+ \\ 0 \\ -[u_1 - u_3]_+ \\ 0 \\ 0 \end{pmatrix}, F(\omega) = \begin{pmatrix} 0 \\ g_1(u, v) \\ 0 \\ g_2(u, v) \\ 0 \\ 0 \end{pmatrix}.$$

Let $u_1(t) = u(\cdot, t)$, $u_2(t) = u_t(\cdot, t)$, $u_3(t) = v(\cdot, t)$, $u_4(t) = v_t(\cdot, t)$, $z_1(t) = z_1(\cdot, t)$, $z_2(t) = z_2(\cdot, t)$ and denote by

$$\omega = \omega(t) = (u_1(t), u_2(t), u_3(t), u_4(t), z_1(t), z_2(t))^T,$$

$$\omega(0) = \omega_0 = (u_{10}, u_{20}, u_{30}, u_{40}, z_1(\cdot - \rho\tau), z_2(\cdot - \rho\tau)).$$

Then the problem (2.4)-(2.6) can be rewritten as an initial-value problem:

$$\begin{cases} \omega' + A_0\omega + A_1(\omega) + F(\omega) = 0 \\ \omega(0) = \omega_0 \end{cases} \quad (2.7)$$

We have the following existence and uniqueness result:

Theorem 2.1. *Assume that*

$$|\lambda_2| \leq \lambda_1 \text{ and } |\mu_2| \leq \mu_1. \quad (2.8)$$

Then for any $\omega_0 \in \mathcal{H}$, the problem (2.7) has a unique solution

$$\omega(\cdot) \in C([0, +\infty), \mathcal{H}).$$

Moreover, if $\omega_0 \in D(A_0)$, the solution of (2.7) satisfies

$$\omega(\cdot) \in C^1([0, +\infty), \mathcal{H}) \cap C([0, +\infty), D(A_0)).$$

Before proving the theorem, we will investigate the auxiliary problem as in [16-18, 21]. For this purpose, we start to assign the following nonlinear operator for each positive $K > 0$:

$$F_K(\omega) = \begin{pmatrix} 0 \\ g_{1K}(u, v) \\ 0 \\ g_{2K}(u, v) \\ 0 \\ 0 \end{pmatrix}$$

where

$$g_{iK}(u, v) = \begin{cases} g_i(u, v), & u^2 + v^2 < K^2, \\ g_i(K \frac{u}{\sqrt{u^2+v^2}}, K \frac{v}{\sqrt{u^2+v^2}}), & u^2 + v^2 \geq K^2. \end{cases}$$

At first, let's take a look at the following problem:

$$\begin{cases} \omega' + A_0\omega + A_1(\omega) + F_K(\omega) = 0 \\ \omega(0) = \omega_0 \end{cases} \quad (2.9)$$

To solve the problem (2.9), we should prove the following Lemmas to use the known results for the operator equations in the monograph [19].

Lemma 2.2. *A_0 is maximal dissipative operator.*

Proof. We start by showing that $(-A_0)$ is dissipative. So, for $\omega = (u_1, u_2, u_3, u_4, z_1, z_2)^T \in D(A_0)$, we have

$$\begin{aligned} \langle A_0\omega, \omega \rangle &= - \int_0^l u_{1xx}u_{2xx}dx + \int_0^l u_2(u_{1xxxx} + \lambda_1u_2 + \lambda_2z_1(\cdot, 1)) dx - \\ &\quad - \int_0^l u_{3x}u_{4x}dx + \int_0^l u_4(-u_{3xx} + \mu_1u_4 + \mu_2z_2(\cdot, 1)) dx + \\ &\quad + |\lambda_2| \int_0^l \int_0^1 z_1z_{1\rho}d\rho dx + |\mu_2| \int_0^l \int_0^1 z_2z_{2\rho}d\rho dx = \\ &\quad = \lambda_1 \int_0^l |u_2|^2 dx + \lambda_2 \int_0^l u_2z_1(\cdot, 1) dx + \\ &\quad + \mu_1 \int_0^l |u_4|^2 dx + \mu_2 \int_0^l u_4z_2(\cdot, 1) dx + \frac{|\lambda_2|}{2} \int_0^l |z_1(\cdot, 1)|^2 dx - \\ &\quad - \frac{|\lambda_2|}{2} \int_0^l |u_2|^2 dx + \frac{|\mu_2|}{2} \int_0^l |z_2(\cdot, 1)|^2 dx - \frac{|\mu_2|}{2} \int_0^l |u_4|^2 dx. \end{aligned} \quad (2.10)$$

Using Young's inequality for the second and fourth term of (2.10), we arrive at

$$\langle A_0\omega, \omega \rangle \geq (\lambda_1 - |\lambda_2|) \int_0^l |u_2|^2 dx + (\mu_1 - |\mu_2|) \int_0^l |u_4|^2 dx \geq 0$$

by virtue of (2.8).

Next, we show that $(-A_0)$ is maximal dissipative operator. That is, for each $F = (f_1, f_2, f_3, f_4, f_5, f_6)^T \in \mathcal{H}$ we have to find $\omega \in D(A)$ such that

$$\omega + A_0\omega = F, \quad (2.11)$$

i.e.,

$$\begin{cases} u_1 - u_2 = f_1 \\ u_2 + u_{1xxxx} + \lambda_1u_2 + \lambda_2z_1(\cdot, 1) = f_2 \\ u_3 - u_4 = f_3 \\ u_4 - u_{3xx} + \mu_1u_4 + \mu_2z_2(\cdot, 1) = f_4 \\ \tau_1z_1 + z_{1\rho} = \tau_1 f_5 \\ \tau_2z_2 + z_{2\rho} = \tau_2 f_6 \end{cases} \quad (2.12)$$

$$\begin{aligned}
u_1(0) &= u_1(l) = u_{1xx}(0) = u_{1xx}(l) = 0, \\
u_2(0) &= u_2(l) = 0, \\
u_3(0) &= u_3(l) = 0, \\
u_4(0) &= u_4(l) = 0, \\
z_1(\cdot, 0) &= u_2 = u_1 - f_1 \\
z_2(\cdot, 0) &= u_4 = u_3 - f_3.
\end{aligned}$$

The first and fifth equations of (2.12) give

$$z_1(x, \rho, t) = \tau_1 e^{-\tau_1 \rho} \int_0^\rho f_5(\theta, \cdot) e^{\theta \tau_1} d\theta + (u_1 - f_1) e^{-\rho \tau_1} \quad (2.13)$$

Analogously, the third and sixth equations of (2.12) give

$$z_2(x, \rho, t) = \tau_2 e^{-\tau_2 \rho} \int_0^\rho f_6(\theta, \cdot) e^{\theta \tau_2} d\theta + (u_3 - f_3) e^{-\rho \tau_2} \quad (2.14)$$

Replacing $u_2 = u_1 - f_1$, $u_4 = u_3 - f_3$,

$$z_1(\cdot, 1) = \tau_1 e^{-\tau_1} \int_0^1 f_5(\theta, \cdot) e^{\theta \tau_1} d\theta + (u_1 - f_1) e^{-\tau_1}$$

and

$$z_2(\cdot, 1) = \tau_2 e^{-\tau_2} \int_0^1 f_6(\theta, \cdot) e^{\theta \tau_2} d\theta + (u_3 - f_3) e^{-\tau_2}$$

from (2.12), we obtain that

$$\begin{cases} \kappa_1 u_1 + \partial^4 u_1 = F_2, & u_1 \in \widehat{H}^4 \\ \kappa_2 u_3 - \partial^2 u_3 = F_4, & u_3 \in \widehat{H}^2 \end{cases} \quad (2.15)$$

where

$$\begin{cases} \kappa_1 = 1 + \lambda_1 + \lambda_2 e^{-\tau_1} > 0 \\ \kappa_2 = 1 + \mu_1 + \mu_2 e^{-\tau_2} > 0 \\ F_2 = f_2 + \kappa_1 f_1 - \lambda_2 \tau_1 e^{-\tau_1} \int_0^1 f_5(\theta, \cdot) e^{\theta \tau_1} d\theta \\ F_4 = f_4 + \kappa_2 f_3 - \mu_2 \tau_2 e^{-\tau_2} \int_0^1 f_6(\theta, \cdot) e^{\theta \tau_2} d\theta \end{cases}$$

Let's define the following bilinear form:

$$B(U, W) = \int_0^l u_{1xx} w_{1xx} dx + \int_0^l u_{3x} \tilde{w}_{1x} dx + \kappa_1 \int_0^l u_1 w_1 dx + \kappa_2 \int_0^l u_3 \tilde{w}_1 dx,$$

and the linear form

$$L(W) = \langle F, W \rangle,$$

Where $U = (u_1, u_3)$, $W = (w_1, \tilde{w}_1)$ and $F = (F_2, F_4)$. Let's show that $B(U, W)$ and $L(W)$ satisfy the conditions of Lax-Milgram theorem. By using Holder's inequality, we obtain that

$$B(U, W) \leq 2 \int_0^l |u_{1xx}|^2 dx + 2 \int_0^l |w_{1xx}|^2 dx + 2 \int_0^l |u_{3x}|^2 dx + 2 \int_0^l |\tilde{w}_{1x}|^2 dx + \\ + 2\kappa_1 \int_0^l |u_1|^2 dx + 2\kappa_1 \int_0^l |w_1|^2 dx + 2\kappa_2 \int_0^l |u_3|^2 dx + 2\kappa_2 \int_0^l |\tilde{w}_1|^2 dx \leq C \cdot (\|U\|^2 + \|W\|^2)$$

So, $B(U, W)$ is continuous.

In addition, there is such a positive constant C_0 that the following inequality

$$B(U, U) = \int_0^l |u_{1xx}|^2 dx + \int_0^l |u_{3x}|^2 dx + \kappa_1 \int_0^l |u_1|^2 dx + \\ + \kappa_2 \int_0^l |u_3|^2 dx \geq C_0 \|U\|^2$$

holds, i.e. $B(U, W)$ is coercive. These calculations show that B and L satisfy the conditions of Lax-Milgram theorem.

A simple calculation shows that B and L satisfy the conditions of Lax-Milgram theorem. So, there exists a unique $U = (u_1, u_3) \in \hat{H}^2 \hat{H}^1$ satisfying

$$B(U, W) = L(W), \quad \forall W \in \hat{H}^2 \hat{H}^1 \quad (2.16)$$

Consequently, $u_2 = u_1 - f_1 \in \hat{H}^2$, $u_4 = u_3 - f_3 \in \hat{H}^1$ and

$$z_1(\cdot, \rho), z_2(\cdot, \rho), z_{1\rho}(\cdot, \rho), z_{2\rho}(\cdot, \rho) \in L_2(0, l).$$

Using (2.11) and (2.12), we get $z_1(\cdot, \rho), z_2(\cdot, \rho) \in L_2((0, l) \times (0, l))$. Thus, (2.7) has a unique solution $\omega = (u_1, u_2, u_3, u_4, z_1, z_2)^T \in \mathcal{H}$. \square

Lemma 2.3. *The nonlinear operators $A_1(\cdot)$ and $F_K(\cdot)$ satisfy Lipschitz condition.*

Proof. Since $|\alpha|_+ - |\beta|_+ \leq |\alpha - \beta|$ for any α, β , we get

$$\|A_1(\omega_2) - A_1(\omega_1)\|_{\mathcal{H}} \leq D(A_0).$$

On the other side, by using the inequality

$$|g_1(\hat{u}, \hat{v}) - g_1(u, v)| \leq c(u, \hat{u}, v, \hat{v}) [|\hat{u} - u| + |\hat{v} - v|]$$

we derive that

$$\|F_{iK}(\omega_2) - F_{iK}(\omega_1)\|_{\mathcal{H}} \leq c(K) \|\omega_2 - \omega_1\|_{\mathcal{H}}.$$

\square

3. Proof of the theorem

According to the Lemma 1 and Lemma 2, for each $K > 0$, the operator $A_0 + A_1(\cdot) + F_K(\cdot)$ satisfies all conditions of Theorem 4.1 in [19] (see also [20]). That's why for any $\omega_0 \in \mathcal{H}$, there is a unique solution $\omega(\cdot) \in C([0, +\infty), \mathcal{H})$ of the problem (2.9). So that, if $\omega_0 \in D(A_0)$, then $\omega(\cdot) \in C^1([0, +\infty), \mathcal{H}) \cap C([0, +\infty), D(A_0))$.

As $A_0 + A_1(\cdot) + F_K(\cdot)$ is maximal monotone operator, from (2.9) we obtain

$$\|\omega(t)\|_{\mathcal{H}}^2 \leq \|\omega_0\|_{\mathcal{H}}^2 e^{2[\omega + C(K)]t}.$$

It follows that when $\|\omega_0\|_{\mathcal{H}} < K$, the inequality $\|\omega(t)\|_{\mathcal{H}}^2 < K^2$ holds true on the interval $0 \leq t \leq T'$ for $T' = T(\|\omega_0\|_{\mathcal{H}}) = \frac{1}{\omega + C(K)} \text{Ln} \frac{K}{\|\omega_0\|_{\mathcal{H}}}$. Thus, on the interval $0 \leq t \leq T'$, $F_K(\omega) = F(\omega)$ is true, i.e., $\omega(t)$ is the solution of the problem (2.7) at the same interval. As can be seen, if $\|\omega(t)\|_{\mathcal{H}} \leq c$ on the interval $0 \leq t \leq T'$, the solution can be continued to the domain $0 \leq t < +\infty$.

References

- [1] A.C. Lazer and P.J. McKenna, Large scale oscillatory behavior in loaded asymmetric systems, Ann. Ins. H. Poincare, Anal. Nonlinear, 4 (1987), pp.243–274.
- [2] P.J. McKenna and W. Walter, Traveling waves in a suspension bridge, SIAM J. Appl. Math. 50(1990), pp. 703–715.
- [3] Q.F. Ma, S.H. Wang, C.K. Zhong, Necessary and sufficient conditions for the existence of global attractor for the semigroup and application, Indiana Univ. Math. J. 51(6)(2002) 1541–1559.
- [4] Q. Ma, C. Zhong, Existence of global attractors for the coupled system of suspension bridge equations, J. Math. Anal. Appl. 308(2005), pp. 365–379.
- [5] Q.Z. Ma, C.K. Zhong, Existence of strong solutions and global attractors for the coupled suspension bridge equations, J. Differ. Equat. 246 (2009) 3755–3775
- [6] N.U. Ahmed, H. Harbi, Mathematical analysis of dynamic models of suspension bridges, SIAM J. Appl. Math. 58 (1998), pp. 853–874.
- [7] Y. An, Nonlinear perturbations of a coupled system of steady state suspension bridge equations, Nonlinear Anal. 51(2002), pp. 1285–1292
- [8] J.R. Kang, Asymptotic behavior of the thermoelastic suspension bridge equation with linear memory, Boundary Value Problems (2016) 206. 1–18.
- [9] Y. Park, J.R. Kang, Global attractors for the suspension bridge equations with nonlinear damping, Quart. Appl. Math. 69 (2011), pp. 465–475.
- [10] C.K. Zhong, Q.Z. Ma, C.Y. Sun, Existence of strong solutions and global attractors for the suspension bridge equations, Nonlinear Analysis 67(2) (2007) 442–454.

- [11] O.A. Ladyzhenskaya, Some complements and corrections to my papers on the theory of attractors for abstract semigroups. (English. Russian original) Zbl 0783.47054J. Sov. Math. 62, No. 3, 2789-2794 (1992) ; translation from Zap. Nauchn. Semin. Leningr. Otd. Mat. Inst. Steklova 182, 102-112 (1990).
- [12] Dafermos C.M., Asymptotic stability in viscoelasticity. Arch Ration Mech Anal. 1970;37: 297–308.
- [13] Dafermos C.M., An abstract Volterra equation with applications to linear viscoelasticity. J Differ Equation, 1970;7:554–569.
- [14] Messaoudi S., Fareh A., and Doudi N., Well posedness and exponential stability in a wave equation with a strong damping and a strong delay, Journal of mathematical physics, 57, 111501(2016)
- [15] Kafini M., Messaoudi S., Local existence and blow up of solutions to a logarithmic nonlinear wave equation with delay, Applicable Analysis, 99(1), 2018,1-18
- [16] Chueshov I., Eller M., Lasiecka I., On the attractor for a semilinear wave equation with critical exponent and nonlinear boundary dissipation // Communication in Partial Differential Equations, 2002, vol.27, p.1901 - 1951.
- [17] M.M. Cavalcanti, V.N. Domingos Cavalcanti, J.A. Soriano, On existence and asymptotic stability of solutions of the degenerate wave equation with nonlinear boundary conditions, J. Math. Anal. Appl. 281(1) (2003) 108–124.
- [18] I. Lasiecka, J.L. Lions, R. Triggiani, Nonhomogeneous boundary value problems for second order hyperbolic operators, J. Math. Pures Appl. (9) 65(2) (1986) 149–192.
- [19] Showalter R.E., Monotone Operators in Banach Spaces and Nonlinear Partial Differential Equations // AMS, Mathematical Surveys and Monographs, 1997, vol. 49.
- [20] V. Barbu, Nonlinear Semigroups and Differential Equations in Banach Spaces, Noordhoff, 1976.
- [21] Rustamova, S.O., A mixed problem for semilinear hyperbolic equations with a dynamic boundary condition // Journal of Contemporary Applied Mathematics, -2019, v.9, No.1, p. 39-51

Y.M. Farhadova
Institute of Mathematics and Mechanics of ANAS
E-mail: ferhadova.yeter@gmail.com

Received 28 March 2021
 Accepted 03 August 2021